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AGAD ST
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o P I F A [ 59 Je7-9H § GRT g 16 7o 597 34 &)

Please make sure that the printed pages in this question paper are 16 in number
and it contains 34 questions.

o Jo7-7¥ H T & @ G RF 78 FS TEY T A F O FI-YRaw & FEI-g8 9T
gy

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

o FYF J9T H TV TG Y& V7§ Yeer, J9T B B AT [rE]
Before beginning to answer a question, its Serial Number must be written.
o FUT-YikTHE % &= H @Il §/9 T 85

Don’t leave blank page/pages in your answer-book.

o FTT-GRam & RFT FF T e Te Bl g sravaEdgar & @ G fiar Faw T
FI2)

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.

1210/(Set : A) P.T.O.



(2) 1210/(Set : A)
o GUETE ST AT To FHT-YA YT Ha9T [rEI UT To % Sl JT-0H T T F8 T
g siie defcys 7ot & IR T Fbdl ST F 9T T g
Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective
type questions.
o U o7 % IV 37 @ §d 96 GhAlEd FT o [ G97-v4 [ T @& & Gher % ST 59
T § g 4 qar w@hwre T A @

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after

examination.

G 59T -

General Instructions :

() T4 9-9F ¥ Bq 34 UN &1 FH F97 A7 &

This question paper contains 34 questions in all. All questions are

compulsory.
(i) 9T €& 1§ 20 T 1 3% a IEJTS U 8| MRAER 39 S84 & Ia% i)

Question Nos. 1 to 20 are objective type questions of 1 mark each. Answer

these questions as per instructions.

(iii) 97 €& 21 § 24 T 3 @ AW ARG IANT U ol TAE YT B IAX AT
50 § 75 & H o

Question Nos. 21 to 24 are very short answer type questions of 3 marks

each. Answer these questions in about 50 to 75 words each.

1210/(Set : A)



(3) 1210/(Set : A)
(i) 97 HE 25 § 30 T% 4 R a @Y I U 1 T U H I ATHT 150
g 7 i

Question Nos. 25 to 30 are short answer type questions of 4 marks each.
Answer these questions in about 150 words each.

(v) U HEM 31 | 34 T 6 3 A I ITNT UK B UAD T BN IAX AT 200
g=at | i)
Question Nos. 31 to 34 are long answer type questions of 6 marks each.
Answer these questions in about 200 words each.

(vi) B 9l | RS fabed Iued 31 UH Ul § | U Had g% of U7 B o

An internal choice is available in some questions. You have to attempt only

one of the given choice in such questions.
(vii) 9T H TH AT B TH T A B

Attempt all parts of the questions together.

[ TS 9 |

[ Objective Type Questions ]
7el [A%eq gy -
Choose correct options :

1. FS 5 ARG SRR HUA & 100 9T, 100 W gfd & &l & § Tl $8 99 91

AL F IR TF 120 T & S 31 AT B, HO A HI&T o S ? 1
(A) 12,000 51 (B) 8,000 59
(C) 10,000 51 (D) 10,120 &9

1210/(Set : A) P.T.O.



(4) 1210/(Set : A)
Manoj buy 100 shares of Bharat Textile Company at the rate of Rs. 100 per

share. After some time the market price of shares become Rs. 120 per share.
What will be his wealth in the company ?

(A) Rs. 12,000 (B) Rs. 8,000
(C) Rs. 10,000 (D) Rs. 10,120

2. ‘TOR § HEee AH W § FEd IR Faqd W AU 99| 984T, 69 ey 2%
%7 giome ® ? 1
(A) oTide (B) eI{crb
(C) Teritent (D) ST Tt

'The adverse impact on the carbon paper business due to the arrival of
photostate machines in the market', is the result of which environmental

factor ?
(A) Economic (B) Political
(C) Technological (D) All of the above

3. ITH UEac [fies & oo deew ot S ST Mo od § 99 a8 Y W Ed @ 6
I H IR R W, I N QAT B AR R g W IH = SO U 98
aeg for & fo0 @8l Sudey &8 ST 48 69 39 a9 W R S % mes @ A
g ? A Ae® BR O T @ dod & [ A § di ded 8, A i 3HE S @
PR ST AR IR IAT G &M AT %l A1 aeal 31 36 e &= &l ey

e &t ST TR HTd € 1
(A) R feEEr (B) et fremEm
(C) S fer=mE (D) S e

1210/(Set : A)



(5) 1210/(Set : A)
When the marketing manager of Alpha Private Limited Mr. Dayal takes a
decision, he keeps in mind that an item will be produced what its features will
be, at what price it will be shipped and where that item will be made available
for sale. It will all depend on what the customer wants. Suppose the customer
wants a separate seat for children in the car, and then the manufacturer will
make the car keeping this in mind and will price it as much as he wants to give.

Identify the marketing philosophy which Mr. Dayal follows :
(A) Marketing Concept

(B) Selling Concept

(C) Product Concept

(D) Production Concept

4. “FHREM T gUUM HTA AN 317 T8 QOFT H HIF-H THBR & 7 1
(A) faw (B) HifeEr
(C) BH (D) HEHEH

"No Smoking in the Factory." Which type of plan is this ?
(A) Rules (B) Policies

(C) Objectives (D) Programme

1210/(Set : A) P.T.O.



(6) 1210/(Set : A)

5. e TeY BRA A .. T B 1
(A)  U&eT (B) &0
(C) & (D) 2w
Direction is the .............. stage of management process.
(A) First (B) Second
(C) Third (D) Fourth

6. “URETA Tgd STwi-oical 8 W & SN AR %l wiasgare H g 217 g armEsel

3 fhg faQISar W ST S T P 1
(A) AR (B) Sifecrr
(C) SFaX-dHaZd (D) HYerr

Which characteristic of the business environment is highlighted when changes

are taking place too frequently and it becomes difficult to predict the future ?
(A) Uncertainty (B) Complexity

(C) Inter-relatedness (D) Relativity

7. 3R =G FURET 5,00,000 TR A AR AFE 3,50,000 T &, A g& B Gt @

LU R ’
(A) 5,00,000 5T (B) 3,50,000 5T
(C) 1,50,000 5T (D) 8,50,000 TT

1210/(Set : A)



(7) 1210/(Set : A)
If current assets are Rs. 5,00,000 and current liabilities are Rs. 3,50,000, then

the amount of net working capital will be :
(A) Rs. 5,00,000 (B) Rs. 3,50,000

(C) Rs. 1,50,000 (D) Rs. 8,50,000

8. T URRAT B FEA =T HA-AT 8 7 1
() s S
(B) =& qdEmd
(C) W& J&E

(D) =& folg

Which is the second stage of the selection process ?
(A) Preliminary Screening

(B) Selection Tests

(C) Post Proposal

(D) Selection Decision

1210/(Set : A) P.T.O.



(8) 1210/(Set : A)
ey g97t (9 7 10) ¥ § w97 RF 1@ & : fweT (A) T BT (R) FIHI #
STTEE TEHT H9 RY 77 faedl & @ @ AT B 79T BT -

The questions below (9 & 10) consists of two statements : Assertion (A) and

Reason (R). Read the statements carefully and choose the correct option given

below :

9. JARFHIN (A) : AT P AT Had AEAD GeAt § Bl ol 1
RO (R) : T @& q9ad $E TEl o
faey -

(A) STHTT (A) T FT (R) I T & 3 PRV (R), STHAT (A) H T&l AR B
(B) SARM®EN (A) T HROT (R) ANl T & X &R (R), ST¥HT (A) & T8 e T8t 2|
(C) SIHN (A) T 8, AfPT BRI (R) STHA 2l

(D) SIHTH (A) T HR (R) AW STHA 2

Assertion (A) : Control is needed only in business organizations.
Reason (R) : Controlling is not a pervasive function.
Options :

(A) Both Assertion (A) and Reason (R) are correct and Reason (R) is the correct

explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are correct and Reason (R) is not correct

explanation of Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) and Reason (R) both are false.

1210/(Set : A)



(9) 1210/(Set : A)
10. e (A) : Brdl ff @reEE & deEaE [FE g 9ga qe@ye 8 ol 1

BT (R) : Qe faf=an ofg e § saedm @ deed q9ar S 9T B ol
& -
(A) IREE (A) T FRO (R) A1 T & X HROT (R), NHHT (A) B T8l 2T B

(B) AR®Y (A) T HROT (R) AN T & AT BN (R), SHHAT (A) B Tl 2T 78 2

(C) SIFN (A) T 8, QBT BRI (R) 3THA 2l

(D) IfHE (A) T FRO (R) T o1 &

Assertion (A) : Long term investment decisions are very important for any

business.

Reason (R) : Long term investment decisions affect the profitability of the

business in the long run.
Option :
(A) Both Assertion (A) and Reason (R) are correct and Reason (R) is the correct
explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are correct and Reason (R) is not correct

explanation of Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.
(D) Assertion (A) and Reason (R) both are false.
1210/(Set : A) P.T.O.



(10) 1210/(Set : A)
J9% F97 & FTT & I7 & I/ T 7 g -

The answer of each question may be given in one or two words/ sentences :

11. UBRFT % fhe @YX Bld 2 ° 1

How many levels of packaging ?

12. ST H OET H Sred & e fRE 599 # ee § W Ay ? 1
Which standard should be used to judge the quality of jewellary ?

13. U&Y & g X W el 6 o 7 1

At which level of management policies are made ?

R &gl &1 gid #ie® 7 /79 79 3T I & & -

Fill in the blanks by appropriate word given in brackets :

14. R GOC1 AYUE & IR H FOg od T qHEEe: S B e § & AN S
= (1 T=/as) 1
While deciding about debt equity ratio, generally .............. are considered to be
cheaper than shares. (Debentures/Bonds)

1210/(Set : A)



(11) 1210/(Set : A)
15. T B F T % G b [qaral @ Heife Rrebradl H qEE 6 S g

(5 HUg/10 BAE) 1

Complaints relating to dispute worth up to .............. are resolved in the State

Commission. (5 crore/ 10 crore)

16. ..ocoon.... T H UF HASS T8 & AR 3EH Jodl AL B GERVESUIR

............. is a systematic body of knowledge and its validity is universal.

(Science/Art)
17. ARG TR T v TR, 2016 H TH 9T H A RTEH TG FdE@en | wEq
UHIT UeTl (8/18) 1
The Government of India made an announcement on .............. November, 2016
which had a deep impact on the Indian economy. (8/18)

=T o7 et & a1 Ter, Jam -

State the following statements are True or False :

18. AEEIE AEReT & faRiy sfeal & s, wed, gfd ud qideal i 8 2l
(el T7) 1

Special Forces of the business environment include investors, customers,

competitors and suppliers. (True/False)

1210/(Set : A) P.T.O.



19.

20.

21.

22.

23.

(12)
JOR, HaH & I BT SN are JE Bl

Publicity is the paid form of promotion.

‘G T fREr T i aFl B T SaEI B

'‘Building Rent' is an example of fixed financial costs.

[ SrfereTg S9GF 99 ]

[ Very Short Answer Type Questions ]

qHaT X AR B T IS0 Hl GeEdl 9 qHemEl|

1210/(Set : A)
(el 7)1

(True/False)

(&Y T7)

(True/False)

Explain the term Trading on Equity with the help of an example.

SRR ST % aal @l d@ad H quie &

Briefly explain the elements of Delegation of Authority.

JEEXTT &l FeFdl ¥ fOxiig Aicdres & 99asy

Describe Financial Incentives with the help of example.

3TeE
OR

JETeT Hl FerIdl @ W-foxig Mo # g9emEy)

Describe Non-financial Incentives with the help of example.

1210/(Set : A)



(13) 1210/(Set : A)
24, “fsE & R AW BT AMeEE o1 F1 AT 39 FAH Y WeAd § ! 0 W &
e | R i 3

"It is profitable to pay for advertising." Do you agree with this statement ? Give

reasons in support of your answer.

3TeE

OR
fopp e & aflT SIS

Give three examples of Sales Promotion.

[ @Y ST 99 |
[ Short Answer Type Questions ]

25. TV &l A B R HA F SUA W =T= B 4

Discuss the measures to overcome the barriers of Communication.

26. TST H TR H fORAR § THRY 4

Explain in detail the process of organizing.

1210/(Set : A) P.T.O.



(14) 1210/(Set : A)
27. IYAF GO ARFEH, 2019 F ATAR, IR Bl IUTH Hl3 FIY & B THABT 4

Explain any four remedies available to consumers under Consumer Protection

Act, 2019.
28. EE9T &l fAQware @i e Hi 4
Explain features of controlling.

29. ‘GRS GOl I F9fad B A q@l B aoE B 4

Discuss the factors affecting requirement of 'working capital'.

3TeE
OR

T TS H gfad B A awl B A S

Discuss the factors which affecting requirement of 'Fixed Capital'.

30. TS % HEl P O B 4

Explain functions of Management.

ST
OR
TS % el Bl qHIRU

Explain objectives of Management.

1210/(Set : A)



(15) 1210/(Set : A)
[ € ST U |

[ Long Answer Type Questions ]

31. Wi & df7 oTidRe &7 s/ Al & aue B 6

Explain three internal and three external sources of Recruitment.
32. fuure gl & o<l &l == B 6

Discuss the elements of Marketing Mix.

33. A" @ F1 ad B ? 39 Hew @l qHeRd| 6

What is meant by Planning ? Explain its importance.

YqT
OR

‘Ao I B GhAdl B MRS TG B IF FA B G § Ao B BE &0 e
ERIEM

"Planning is not a guarantee of success in a business." Explain any six
limitations of planning in light of this statement.

34. IS & T oY FT G9 & ¢ dseh USE B Gl Bl GHEEy 6

What do you mean by Scientific Management ? Discuss principles of Scientific
Management.

1210/(Set : A) P.T.O.



(16) 1210/(Set : A)

OR
B B B RU W sEy % Frefaied e S e § e Hib
(a) TR & THaT
(b) U e
() =T @ T
Briefly explain following principles of management given by Henry Fayol :
(@) Unity of Command
(b) Scalar Chain

(¢) Unity of Direction

1210/(Set : A)
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o P I F A [ 59 Je7-9H § GRT g 16 7o 597 34 &)

Please make sure that the printed pages in this question paper are 16 in number
and it contains 34 questions.

o Jo7-7¥ H T & @ G RF 78 FS TEY T A F O FI-YRaw & FEI-g8 9T
gy

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

o FYF J9T H TV TG Y& V7§ Yeer, J9T B B AT [rE]
Before beginning to answer a question, its Serial Number must be written.
o FUT-YikTHE % &= H @Il §/9 T 85

Don’t leave blank page/pages in your answer-book.

o FTT-GRam & RFT FF T e Te Bl g sravaEdgar & @ G fiar Faw T
FI2)

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.

1210/(Set : B) P.T.O.



(2) 1210/(Set : B)
o GUETE ST AT To FHT-YA YT Ha9T [rEI UT To % Sl JT-0H T T F8 T
g siie defcys 7ot & IR T Fbdl ST F 9T T g
Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective
type questions.
o U o7 % IV 37 @ §d 96 GhAlEd FT o [ G97-v4 [ T @& & Gher % ST 59
T § g 4 qar w@hwre T A @

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after

examination.

G 59T -

General Instructions :

() T4 9-9F ¥ Bq 34 UN &1 FH F97 A7 &

This question paper contains 34 questions in all. All questions are

compulsory.
(i) 9T €& 1§ 20 T 1 3% a IEJTS U 8| MRAER 39 S84 & Ia% i)

Question Nos. 1 to 20 are objective type questions of 1 mark each. Answer

these questions as per instructions.

(iii) 97 €& 21 § 24 T 3 @ AW ARG IANT U ol TAE YT B IAX AT
50 § 75 & H o

Question Nos. 21 to 24 are very short answer type questions of 3 marks

each. Answer these questions in about 50 to 75 words each.

1210/(Set : B)



(3) 1210/(Set : B)
(iv) 9T €@ 25 § 30 T 4 SiH a1 A IAF U 51 TA® U7 H IO AT 150
gl 4 it
Question Nos. 25 to 30 are short answer type questions of 4 marks each.
Answer these questions in about 150 words each.

(v) 9T GET 31 § 34 TF 6 3 A dY AN U Bl TEF U B IAT AT 200
g=at | i)
Question Nos. 31 to 34 are long answer type questions of 6 marks each.
Answer these questions in about 200 words each.

(vi) B 9l 7 AARE fabed Iued 31 UH Ul § | U Had g% of U7 B ol

An internal choice is available in some questions. You have to attempt only

one of the given choice in such questions.
(vii) 9T H TE AT B TH T A B

Attempt all parts of the questions together.

[ TGS 99 |

[ Objective Type Questions ]

7el [a%eq gy -

Choose correct options :

1. “HREM § gEH FHAT afoid 81”7 I8 Al H HA-81 THR 8 7 1
() e (B) et
(C) kA (D) HHHA

1210/(Set : B) P.T.O.



(4) 1210/(Set : B)
"No Smoking in the Factory." Which type of plan is this ?

(A) Rules (B) Policies
(C) Objectives (D) Programme
2. FEST SEe qipar # .. T B 1
(A)  Teell (B) 80
(C) drEw (D) e
Direction is the .............. stage of management process.
(A) First (B) Second
(C) Third (D) Fourth

3. “gRadT I STwl-Sial & W@ & AR AR H ARarll H g ol e e

31 fhg faQisar W g S T 8 ? 1
(A) AR (B) Sifecan
(C) SHaX-Geadm (D) ®mear

Which characteristic of the business environment is highlighted when changes

are taking place too frequently and it becomes difficult to predict the future ?
(A) Uncertainty (B) Complexity

(C) Inter-relatedness (D) Relativity

1210/(Set : B)



(5) 1210/(Set : B)
4. 3R =G FURET 5,00,000 TR A AR AFE 3,50,000 T &, A g& P Gt @
RUEIRC T ’

(A) 5,00,000 &9
(B) 3,50,000 &9
(C) 1,50,000 &9
(D) 8,50,000 &9

If current assets are Rs. 5,00,000 and current liabilities are Rs. 3,50,000, then

the amount of net working capital will be :
(A) Rs. 5,00,000

(B) Rs. 3,50,000

(©) Rs. 1,50,000

(D) Rs. 8,50,000

5. T USRI B GEA =0T ST 8 7 1
() s S
(B) = el
(C) W& J&E
(D) == ol

1210/(Set : B) P.T.O.



(6) 1210/(Set : B)

Which is the second stage of the selection process ?
(A) Preliminary Screening

(B) Selection Tests

(C) Post Proposal

(D) Selection Decision

6. FAT 7 9RA SHRA U b 100 A, 100 T U Y H W § TR B I &
AL F IR T 120 T & S 31 qAST B, HO A HI&T o S ? 1

(A) 12,000 &9

(B) 8,000 &9

(C) 10,000 51
(D) 10,120 99
Manoj buy 100 shares of Bharat Textile Company at the rate of Rs. 100 per

share. After some time the market price of shares become Rs. 120 per share.

What will be his wealth in the company ?
(A) Rs. 12,000

(B) Rs. 8,000

(C) Rs. 10,000

(D) Rs. 10,120

1210/(Set : B)



(7) 1210/(Set : B)
7. SRR § HEaRe 9909 o9 § Y Y a9 R Quia g9 ggAr, e adeeid geh

% giem ® ? ’
() i (B) TeMfa®
(C) Tebrirehl (D) SWied |+l

'The adverse impact on the carbon paper business due to the arrival of

photostate machines in the market', is the result of which environmental

factor ?
(A) Economic (B) Political
(C) Technological (D) All of the above

8. e gde [ & Fuve ydud o s @ FroiE dd § 99 g8 oY W e 2 % e
qE F I fRar Se, SEe @ fdvand SR ofR fheR qew W S® = STem Jur 98
gy foepa & U %81 Sue FXE SN I8 69 39 9| W R & 6 aes @ A
g 7 AF UEE B A gel & o @ U oW § die wed §, @ Ml 3w e W@l
PR ST AR IR I e &M AT Sl 1 areal 3| 36 e &= &l g
forerp =t T3 STERYT & © 1

(A) quN feEmrEr
(B) feehl fermemn
(C) IR feameemT
(D) SRS faEmEr

1210/(Set : B) P.T.O.



(8) 1210/(Set : B)
When the marketing manager of Alpha Private Limited Mr. Dayal takes a
decision, he keeps in mind that an item will be produced what its features will
be, at what price it will be shipped and where that item will be made available
for sale. It will all depend on what the customer wants. Suppose the customer
wants a separate seat for children in the car, and then the manufacturer will
make the car keeping this in mind and will price it as much as he wants to give.

Identify the marketing philosophy which Mr. Dayal follows :
(A) Marketing Concept

(B) Selling Concept

(C) Product Concept

(D) Production Concept

ey g971 (9 7 10) ¥ § F97 _F 1@ & : fvweT (A) T BT (R) FIEI #
STTEE TEHT H19 RY T fed & @ @ fey B 797 HIT -

The questions below (9 & 10) consists of two statements : Assertion (A) and
Reason (R). Read the statements carefully and choose the correct option given

below :

1210/(Set : B)



(9) 1210/(Set : B)
9. AR (A) : FeEl ot Faa™ & e AfERT Mo 98 Jew@yel B ol 1

HRT (R) : A i fofg e & Jaam @ g e @ g9iad wXa
fawey -

(A) ST (A) T BRI (R) A T & IR BR (R), 1B (A) & T8 re 2l
(B) AR®Y (A) T HROT (R) AN T & AT BN (R), SHHAT (A) B Tl 2T 78 2

(C) SIHN (A) T 8, AfBT BRI (R) 3THA 2l

(D) ST (A) T HROT (R) T 19 B

Assertion (A) : Long term investment decisions are very important for any

business.

Reason (R) : Long term investment decisions affect the profitability of the

business in the long run.
Option :

(A) Both Assertion (A) and Reason (R) are correct and Reason (R) is the correct

explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are correct and Reason (R) is not correct

explanation of Assertion (4).
(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) and Reason (R) both are false.

1210/(Set : B) P.T.O.



(10) 1210/(Set : B)

10. AREEEE (A) : FEFT H AR DA AEANE TS § B 2 1
RO (R) : (R @& qdad $E T&l o
A%y :

(A) ARMFEE (A) T FROT (R) AT T & R BN (R), MBI (A) & T8 e 2
(B) ST (A) T BT (R) I T & 3 BROT (R), SNHAT (A) H TEl AT el &l
(C) SIEN (A) T 8, AfBT BRI (R) STHA 2l

(D) ARHY (A) T HROT (R) I STEFA 2

Assertion (A) : Control is needed only in business organizations.
Reason (R) : Controlling is not a pervasive function.
Options :

(A) Both Assertion (A) and Reason (R) are correct and Reason (R) is the correct
explanation of Assertion (4).

(B) Both Assertion (A) and Reason (R) are correct and Reason (R) is not correct

explanation of Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) and Reason (R) both are false.

J9% F97 T FIT TF 7 & S5/ arr § G -

The answer of each question may be given in one or two words/ sentences :

11. ST H oET HI Sied & e f6E 599 # eF § W Ay ? 1

Which standard should be used to judge the quality of jewellary ?

1210/(Set : B)



(11) 1210/(Set : B)
12. y€y & fhg @X W HIRET s o 8 ? 1

At which level of management policies are made ?

13. UBRFT % fhe WX g 2 ° 1

How many levels of packaging ?

R &gl &1 id #ie® 7 /79 79 3T g7 & & -

Fill in the blanks by appropriate word given in brackets :

14. 9 HHA H ...oooenn T6 & 99 & fqamal § defid Riepredl & qaree B S 2l
(5 HUg/10 BAE) 1

Complaints relating to dispute worth up to .............. are resolved in the State

Commission. (S crore/ 10 crore)

15. oo, T B Th FHGE GY8 & AR 30D JHaT AEHIS ol (fersTrT /) 1

............. is a systematic body of knowledge and its validity is universal.

(Science/Art)
16. XA TER T .ooennne, TR, 2016 H TH 99O B f FTEE ARG SrfeEEen | w/q
JHIT Ul (8/18) 1
The Government of India made an announcement on .............. November, 2016
which had a deep impact on the Indian economy. (8/18)

1210/(Set : B) P.T.O.
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17. 9 GHAT FIUE & I F MO qd T qEREG: HAA BT F & M S
2l (o1 T=/aE)
While deciding about debt equity ratio, generally .............. are considered to be
cheaper than shares. (Debentures/Bonds)

=T o7 et & a1 T, Jam -

State the following statements are True or False :

18. JOR, HadH & I FhY W arr J&y ol (FE T7T) 1
Publicity is the paid form of promotion. (True/False)

19. ‘997 1 FEr @l foxig arm) @ 06 SRl ol (FEl T7T) 1
'Building Rent' is an example of fixed financial costs. (True/False)

20. JEHYE aATCERET S ALY afedl § Fase, qew, gart o gfied afaiad 8 gl

(&l ) 1
Special Forces of the business environment include investors, customers,
competitors and suppliers. (True/False)
[ arfereTy S98F 9% ]

[ Very Short Answer Type Questions ]

21. fafamr fofg | ong @1 gwe@ § ? e afed awemsy) 3

What do you mean by Investment Decision ? Explain with example.

1210/(Set : B)
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22. IIE & T ¥ IR-FoRig Mo & g9y 3

23.

24.

Describe Non-financial Incentives with the help of example.

3TeE

OR

JAEXTT %l Fedl § fOxig Aicdred &l G9eEy|

Describe Financial Incentives with the help of example.

fosp Hadq & o7 Serer it 3

Give three examples of Sales Promotion.

YqT

OR

“RET &% [T A BT ATHEEE o FT Y 3@ U § §eAd & ¢ O SR &
a9 § T e

"It is profitable to pay for advertising." Do you agree with this statement ? Give

reasons in support of your answer.

BN SO & qdl B G8HY H qU B 3

Briefly explain the elements of Delegation of Authority.

1210/(Set : B) P.T.O.
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[ @ ST 99 |

[ Short Answer Type Questions ]

25. IYAIFAT GO ARFEH, 2019 & ATAR, IS Bl IUTH Hl3 FIY & B THABT 4

Explain any four remedies available to consumers under Consumer Protection

Act, 2019.

26. EF0 F AR H A B 4

Explain features of controlling.

27. R T B g B a d B A B 4

Discuss the factors which affecting requirement of 'Fixed Capital'.

YqT

OR

‘FRAMT T H TAfad B a1 T B GO B

Discuss the factors affecting requirement of 'working capital'.

28. J§Y &% 3Ll Bl THIART 4

Explain objectives of Management.

1210/(Set : B)
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UEY & HET H aU B

Explain functions of Management.

29. TV & A B G HA F SUE W == B 4

Discuss the measures to overcome the barriers of Communication.

30. e Hl URRAT Al fORAR € FHER 4

Explain in detail the process of organizing.

[ € S s ]

[ Long Answer Type Questions ]

31. fquor fysor & at @ ==t B 6

Discuss the elements of Marketing Mix.

32. ‘“FMAF g™ # Ghadl H TR TG 27 3T FAA B G § AW B BT & e
ERIENY 6

"Planning is not a guarantee of success in a business." Explain any six
limitations of planning in light of this statement.

YqT
OR

e | o1 a9d B ? 3H% Hew & 9uEsdl

What is meant by Planning ? Explain its importance.

1210/(Set : B) P.T.O.
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33. &7 %AW &N [{U 0 JEY & e el S 999 § e Hie 6

(a) TR & THaT
(b) UM el
() e @t e

Briefly explain following principles of management given by Henry Fayol :
(@) Unity of Command

(b) Scalar Chain

(¢) Unity of Direction

YqT
OR

A+ TEY | STY o7 T9ed & 7 Asiie Y & oSl d qHeEy)

What do you mean by Scientific Management ? Discuss principles of Scientific

Management.

34. Wi & df7 oTidRe 9 &7 s/ Al # aue B 6

Explain three internal and three external sources of Recruitment.

1210/(Set : B)
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(2) 1210/(Set : C)
o GUETE ST AT To FHT-YA YT Ha9T [rEI UT To % Sl JT-0H T T F8 T
g siie defcys 7ot & IR T Fbdl ST F 9T T g
Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective
type questions.
o U o7 % IV 37 @ §d 96 GhAlEd FT o [ G97-v4 [ T @& & Gher % ST 59
T § g 4 qar w@hwre T A @

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after

examination.

G 59T -

General Instructions :

() T4 9-9F ¥ Bq 34 UN &1 FH F97 A7 &

This question paper contains 34 questions in all. All questions are

compulsory.
(i) 9T €& 1§ 20 T 1 3% a IEJTS U 8| MRAER 39 S84 & Ia% i)

Question Nos. 1 to 20 are objective type questions of 1 mark each. Answer

these questions as per instructions.

(iii) 97 €& 21 § 24 T 3 @ AW ARG IANT U ol TAE YT B IAX AT
50 § 75 & H o

Question Nos. 21 to 24 are very short answer type questions of 3 marks

each. Answer these questions in about 50 to 75 words each.

1210/(Set : C)
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(iv) 9T €@ 25 § 30 T 4 SiH a1 A IAF U 51 TA® U H IO AT 150
g 7§ fifs

Question Nos. 25 to 30 are short answer type questions of 4 marks each.
Answer these questions in about 150 words each.

(v) U HEM 31 | 34 T 6 3 A I ITNT UK B UAD T BN IAX AT 200
g=at | i)
Question Nos. 31 to 34 are long answer type questions of 6 marks each.
Answer these questions in about 200 words each.

(vi) B 9l | RS fabed Iued 31 UH Ul § | U Had g% of U7 B o

An internal choice is available in some questions. You have to attempt only

one of the given choice in such questions.
(vii) 9T H TH AT B TH T A B

Attempt all parts of the questions together.

[ TS 9 |

[ Objective Type Questions ]

7el ey g -

Choose correct options :

1. “ORETT F5d Seal-STwl 8 @ § AR e & Aflsgarh A g 81”7 sadid aeRer

3 fhg faQisar W g S T ? 1
(A) YT (B) Sffeqrdr
(C) SFaX-dHaZd (D) HYerr

1210/(Set : C) P.T.O.
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Which characteristic of the business environment is highlighted when changes

are taking place too frequently and it becomes difficult to predict the future ?
(A) Uncertainty

(B) Complexity

(C) Inter-relatedness

(D) Relativity

2. 3 TR duRET 5,00,000 W@ SR AR AR”E 3,50,000 & &, T & FEA T A
i B ’

(A) 5,00,000 &9

(B) 3,50,000 593

(C) 1,50,000 B9

(D) 8,50,000 &9

If current assets are Rs. 5,00,000 and current liabilities are Rs. 3,50,000, then

the amount of net working capital will be :
(A) Rs. 5,00,000
(B) Rs. 3,50,000
(C) Rs. 1,50,000

(D) Rs. 8,50,000

1210/(Set : C)
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3. T RRAT & AN O HIA-A1 B 7 1

A) TR S
(B) =& Them
(C) T g&E

(D) == ol

Which is the second stage of the selection process ?
(A) Preliminary Screening

(B) Selection Tests

(C) Post Proposal

(D) Selection Decision

4. TN 7 ARG FECET HU 3 100 39, 100 HYY 9fd S @ X q T HB 96T 9%

9

AL F IR T 120 T & S 31 AT B, HOA A HI&T o S ? 1
(A) 12,000 51 (B) 8,000 59
(C) 10,000 51 (D) 10,120 &9

Manoj buy 100 shares of Bharat Textile Company at the rate of Rs. 100 per
share. After some time the market price of shares become Rs. 120 per share.

What will be his wealth in the company ?
(A) Rs. 12,000 (B) Rs. 8,000

(C) Rs. 10,000 (D) Rs. 10,120

1210/(Set : C) P.T.O.
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5. GO ¥ Heree g9 oM & FeY I g™ W [Judd g9 gs4r, fFe aaEeig s

% giem ® ? ’
() i (B) TeMfa®
(C) Tebrirehl (D) SWied |+l

'The adverse impact on the carbon paper business due to the arrival of

photostate machines in the market', is the result of which environmental

factor ?
(A) Economic (B) Political
(C) Technological (D) All of the above

6. H AT ffies & oM yeus o s o9 Mol dd § 99 98 oY W T ¢ 6 e
qE F I fRar Se, SEe @ fdvand SR ofR e qew W S® = STem Jur 98
a] foepa & [T #81 Suqe FXs SO 98 69 39 AW WX MY ST 6 Aed @ aed
g ? A Ae® BR A Tl @ dod & O A § di d@ed 8, A i 3HwE S @
PR AN AR IR IqT e & A1 bl &A1 =eal 81 3 e &= &l g

foret ot aaet FTPHT L ¢ ’
(A)  faoer e B) bt e
(C) SeUrE ferameem (D) Seures femmeama

1210/(Set : C)



(7) 1210/(Set : C)
When the marketing manager of Alpha Private Limited Mr. Dayal takes a
decision, he keeps in mind that an item will be produced what its features will
be, at what price it will be shipped and where that item will be made available
for sale. It will all depend on what the customer wants. Suppose the customer
wants a separate seat for children in the car, and then the manufacturer will
make the car keeping this in mind and will price it as much as he wants to give.

Identify the marketing philosophy which Mr. Dayal follows :
(A) Marketing Concept

(B) Selling Concept

(C) Product Concept

(D) Production Concept

7. “HREM T gEUM HTA AN 317 T8 ASFT B HI-H TR & 7 1
(A) fEm B) et
(C) & (D) HEHA

"No Smoking in the Factory." Which type of plan is this ?

(A) Rules (B) Policies

(C) Objectives (D) Programme

1210/(Set : C) P.T.O.



(8) 1210/(Set : C)

8. e sy uBRal A .............. T B 1
(A)  U&eT (B) &0
(C) e (D) 2w
Direction is the .............. stage of management process.
(A) First (B) Second
(C) Third (D) Fourth

=it ge7 (9 7 10) § & Fy7 RF 1@ & : oifET (A) T BRI (R) T #
STEE TEHT H9 RY 77 fedl & @ @ AT B 79T BT -

The questions below (9 & 10) consists of two statements : Assertion (A) and
Reason (R). Read the statements carefully and choose the correct option given

below :

9. RN (A) : AT F METHA Faw AEEAD GeAt § Bl Bl 1
HRO (R) : 991 0% ot FE TRl o
fwT -
(A) ARHET (A) T BROT (R) AMT T & AR BN (R), STHHAT (A) I T& AR 2
(B) AR®Y (A) T HROT (R) AN T & AR BN (R), STHHAT (A) & T& ARAT T8l 2|

(C) SIHN (A) T 8, AfBT BRI (R) STHA 2l

(D) ST (A) T HROT (R) AT ST9A B

1210/(Set : C)
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Assertion (A) : Control is needed only in business organizations.
Reason (R) : Controlling is not a pervasive function.
Options :

(A) Both Assertion (A) and Reason (R) are correct and Reason (R) is the correct

explanation of Assertion (4).

(B) Both Assertion (A) and Reason (R) are correct and Reason (R) is not correct

explanation of Assertion (4).
(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) and Reason (R) both are false.

10. e (A) : Brdl ff FreEE & deEaE [FE g 9gd qe@ge e ol 1
PR (R) : e fafvae fFofa S § eame & A9eEs a9 S g9iad & 8l
T
(A) ARHET (A) T BROT (R) AMT T & AR BN (R), SHHAT (A) I T& ARSAT 2

(B) SARMHEN (A) T HROT (R) Al F & X R (R), MBI (A) B HEl e & R

(C) STRERN (A) T 8, AfPT IR (R) ITHA Bl

(D) STRERN (A) T HROT (R) QT 19 B

1210/(Set : C) P.T.O.
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Assertion (A) : Long term investment decisions are very important for any

business.

Reason (R) : Long term investment decisions affect the profitability of the

business in the long run.
Option :

(A) Both Assertion (A) and Reason (R) are correct and Reason (R) is the correct

explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are correct and Reason (R) is not correct

explanation of Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) and Reason (R) both are false.

J% J97 T FIT TF 7 & S5/ a7 G -

The answer of each question may be given in one or two words/ sentences :

11. 969 3 59 X W fqdr 9% et & 7 1

At which level of management policies are made ?

12. UBRFT % e @YX Bld 2 ° 1

How many levels of packaging ?

13. ST F O H Srad & foe f6E 5 @ ee § e Ay ? 1
Which standard should be used to judge the quality of jewellary ?

1210/(Set : C)
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R &gl &1 qid #ie® 7 /79 79 3T g7 & & -

Fill in the blanks by appropriate word given in brackets :

14, ARG TR T v TR, 2016 H TH 9T H A REH TG FdE@en | wEq
G | (8/18) 1
The Government of India made an announcement on .............. November, 2016
which had a deep impact on the Indian economy. (8/18)

15. R EC1 AYUE & IR § [Og od T qHrEe: S B ge § & AN S
2l (31 =/arE)
While deciding about debt equity ratio, generally .............. are considered to be
cheaper than shares. (Debentures/Bonds)

16. T HHIT H ..o T & Ied & [darl 4 deiftd Reead &1 qeee B S gl

(5 #$/10 FB) 1

Complaints relating to dispute worth up to .............. are resolved in the State
Commission. (S crore/ 10 crore)

1 i S T H UF HASS T8 & AR 36 Jodl AEHI ol \CERIES N

............. is a systematic body of knowledge and its validity is universal.

(Science/Art)

1210/(Set : C) P.T.O.
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=TT we7 qat & g7 e, Fa -

State the following statements are True or False :

18.

19.

20.

21.

22.

‘o 1 AT @ fOig ekl & 0 SR o (78 ) A

'Building Rent' is an example of fixed financial costs. (True/False)

AEEIE AERT i ARy afeadl § Faasw, aew, aart @ gidedl gt aid ol

(el ) 1
Special Forces of the business environment include investors, customers,
competitors and suppliers. (True/ False)
TR, TaET B A 6T S A JrE ol (78 ) A
Publicity is the paid form of promotion. (True/False)

[ iy ST Us T ]
[ Very Short Answer Type Questions ]

ferfir ot & oTTT o T © 7 SRRl Ao aHEEul 3

What do you mean by Financing Decision ? Explain with example.

‘e & [T PAM #RT AMERE 51”7 F S 39 BT § WeNd © ¢ A S &
e # R G 3

"It is profitable to pay for advertising." Do you agree with this statement ? Give

reasons in support of your answer.

1210/(Set : C)



fospa Hade & a7 erever A
Give three examples of Sales Promotion.
23. HARHR ARV F T FH GG F o H

Briefly explain the elements of Delegation of Authority.

24, IIEL P FEIAl § O Uieared Sl qHIRu

Describe Financial Incentives with the help of example.

YqT
OR

JETeT Hl FerEdl @ W-foxig e # g9emEy)

Describe Non-financial Incentives with the help of example.

[ @Y S909 97 |

[ Short Answer Type Questions ]

25. ‘GRS GOl I g9fad B A qw@l B 9o B

Discuss the factors affecting requirement of 'working capital'.

1210/(Set : C)
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‘Tl GO’ &1 Jefad &R A aal @l A

Discuss the factors which affecting requirement of 'Fixed Capital'.

26. YS9 & HEl H IO B 4

Explain functions of Management.

3TeE
OR

TSY % Segdl Pl THIET

Explain objectives of Management.

27. TIYIT & A B R HA F SUA W =T= B 4

Discuss the measures to overcome the barriers of Communication.

28. o Hl URRAT Al AR § TR 4

Explain in detail the process of organizing.

29. IUHIK T ARFEH, 2019 & ATHR, ISUHEKNSA BN Iucrd Hig ¢ e B THAFY 4

Explain any four remedies available to consumers under Consumer Protection
Act, 20109.

1210/(Set : C)



30.

31.

32.

(15) 1210/(Set : C)
AT i [GQuarstt @l e ®]| 4

Explain features of controlling.

[ € ST s ]

[ Long Answer Type Questions ]

Ao @ 1 aed B ? 393 Hew @l qHeRd 6

What is meant by Planning ? Explain its importance.

YqT

OR

“REe HaEE # hadl B TR T8 817 39 #U9 & g § FsH @ B & dad
ERIEM

"Planning is not a guarantee of success in a business." Explain any six

limitations of planning in light of this statement.

A+ T | STY o7 TUeid & 7 dsiiieh 8y & sl d qHeEy| 6

What do you mean by Scientific Management ? Discuss principles of Scientific

Management.

1210/(Set : C) P.T.O.



33.

34.

(16) 1210/(Set : C)

B B &1 2T U ey % Freiiiad Rl S q8u § Aren #iie
(a) TR FH THaT
(b) HA A
(c) TR & T

Briefly explain following principles of management given by Henry Fayol :
(@) Unity of Command
(b) Scalar Chain

(¢) Unity of Direction

T & df7 oTiae a o7 S’ BNl B aUH B 6

Explain three internal and three external sources of Recruitment.

foqo frsrr & oAl B TR B 6

Discuss the elements of Marketing Mix.

1210/(Set : C)
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o P I F A [ 59 Je7-9H § GRT g 16 7o 597 34 &)
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(2) 1210/(Set : D)
o GUETE ST AT To FHT-YA YT Ha9T [rEI UT To % Sl JT-0H T T F8 T
g siie defcys 7ot & IR T Fbdl ST F 9T T g
Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective
type questions.
o U o7 % IV 37 @ §d 96 GhAlEd FT o [ G97-v4 [ T @& & Gher % ST 59
T § g 4 qar w@hwre T A @

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after

examination.

G 59T -

General Instructions :

() T4 9-9F ¥ Bq 34 UN &1 FH F97 A7 &

This question paper contains 34 questions in all. All questions are

compulsory.
(i) 9T €& 1§ 20 T 1 3% a IEJTS U 8| MRAER 39 S84 & Ia% i)

Question Nos. 1 to 20 are objective type questions of 1 mark each. Answer

these questions as per instructions.

(iii) 97 €& 21 § 24 T 3 @ AW ARG IANT U ol TAE YT B IAX AT
50 § 75 & H o

Question Nos. 21 to 24 are very short answer type questions of 3 marks

each. Answer these questions in about 50 to 75 words each.

1210/(Set : D)



(3) 1210/(Set : D)
(iv) 9T €@ 25 § 30 T 4 SiH a1 A IAF U 51 TA® U7 H IO AT 150
gl 4 it
Question Nos. 25 to 30 are short answer type questions of 4 marks each.
Answer these questions in about 150 words each.

(v) 9T GET 31 § 34 TF 6 3 A dY AN U Bl TEF U B IAT AT 200
g=at | i)
Question Nos. 31 to 34 are long answer type questions of 6 marks each.
Answer these questions in about 200 words each.

(vi) B 9l 7 AARE fabed Iued 31 UH Ul § | U Had g% of U7 B ol

An internal choice is available in some questions. You have to attempt only

one of the given choice in such questions.
(vii) 9T H TE AT B TH T A B

Attempt all parts of the questions together.

[ TESS 99 |

[ Objective Type Questions ]
7&r [y gy -

Choose correct options :

1. I MEae fafes & RooM sEus o s o9 ol dd § 99 98 oY W T © R e
G H IR R S, I FN AT B AR R g W SE S= SO U 98
a] foopa & [T 81 Suae FX1s SO 98 69 39 AW W MY ST 6 A @ aed
g ? A AEE FR A TeE B dod B U ST § Wi AR ©, O M SEE e @
PR AN AR IR IqT e T A1 Sl &A1 =eal 21 3 e &= &l g

e ot &9 STgERel #7d ¢ ¢ 1
(A) faeom feEmem (B) ol e
(C) IR ferameem (D) e fermeem

1210/(Set : D) P.T.O.



(4) 1210/(Set : D)
When the marketing manager of Alpha Private Limited Mr. Dayal takes a
decision, he keeps in mind that an item will be produced what its features will
be, at what price it will be shipped and where that item will be made available
for sale. It will all depend on what the customer wants. Suppose the customer
wants a separate seat for children in the car, and then the manufacturer will
make the car keeping this in mind and will price it as much as he wants to give.

Identify the marketing philosophy which Mr. Dayal follows :
(A) Marketing Concept

(B) Selling Concept

(C) Product Concept

(D) Production Concept

2. “HREM ¥ gUUM HTA AN 31”7 T8 QST H HIF-H TR & 7 1
(A) fEm B) et
(C) & (D) HEHA

"No Smoking in the Factory." Which type of plan is this ?

(A) Rules (B) Policies

(C) Objectives (D) Programme

1210/(Set : D)
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3. FES wee qishar B .............. T B 1
(A)  U&eT (B) &0
(C) drEw (D) e
Direction is the .............. stage of management process.
(A) First (B) Second
(C) Third (D) Fourth

4. “OREA TgT STwI-Sical 8 W & SN AR %l wiasgare H g 217 g ardmEsel

3 fhg faQISar W ST S T 8 ? 1
(A)  SrfviR=rer (B) Sifeetan
(C) SFaX-dHaZd (D) HYerr

Which characteristic of the business environment is highlighted when changes

are taking place too frequently and it becomes difficult to predict the future ?
(A) Uncertainty (B) Complexity

(C) Inter-relatedness (D) Relativity

5. IR =q "uRwEr 5,00,000 W@ AR AR ARG 3,50,000 TR &, A & FEdT T A

LRI IR ’
(A) 5,00,000 &9 (B) 3,50,000 59
(C) 1,50,000 &9 (D) 8,50,000 &9

1210/(Set : D) P.T.O.
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If current assets are Rs. 5,00,000 and current liabilities are Rs. 3,50,000, then

the amount of net working capital will be :
(A) Rs. 5,00,000
(B) Rs. 3,50,000
(C) Rs. 1,50,000
(D) Rs. 8,50,000
6. TAF HEHAT B AW =T -1 8 7 1
() ST S

(B) = qdemd

(C) U &

(D) == ol

Which is the second stage of the selection process ?
(A) Preliminary Screening

(B) Selection Tests

(C) Post Proposal

(D) Selection Decision
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7. TN ¥ ARG FECRT U 3 100 39, 100 HYY 9fd A9 @ X 4 % HB 96T 9%

9

S H TER GF 120 TR & A 81 FAS B, HIH F GO oo BRn ? 1
(A) 12,000 51 (B) 8,000 59
(C) 10,000 &9 (D) 10,120 &9

Manoj buy 100 shares of Bharat Textile Company at the rate of Rs. 100 per
share. After some time the market price of shares become Rs. 120 per share.

What will be his wealth in the company ?
(A) Rs. 12,000 (B) Rs. 8,000

(C) Rs. 10,000 (D) Rs. 10,120

8. TN H Weee AW oMF § HeY U g™ R [Quid g9d qeer, 9 adeeid 9eh

& iRy & ? ’
() i (B) ToMfa®
(C) Tebrirehl (D) SWied |+l

'The adverse impact on the carbon paper business due to the arrival of

photostate machines in the market', is the result of which environmental

factor ?
(A) Economic (B) Political
(C) Technological (D) All of the above
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=it 797 (9 7 10) § & Fy7 RF 1 & : oifEET (A) T BT (R) T #
STTEE TEHT H9 Ry T faed & @ & fey B T9T HT -

The questions below (9 & 10) consists of two statements : Assertion (A) and
Reason (R). Read the statements carefully and choose the correct option given
below :

9. AR (A) : FeEll i aa™ & e AfFERT Mo 98 Jew@yel B ol 1
HROT (R) : SEHN Aa Foig e § 2Zhad @ a9 eEs qHa S 9iad w2
e -

(A) STHTT (A) T HT (R) I T & 3R BROT (R), SMHAT (A) H T&l AR
(B) SARM®EN (A) T HROT (R) Al T & X R (R), ST (A) B HEl e & B
(C) SIFN (A) T 8, ABT BRI (R) STHA 2l

(D) ARHE (A) T HROT (R) I TFA 2

Assertion (A) : Long term investment decisions are very important for any

business.
Reason (R) : Long term investment decisions affect the profitability of the
business in the long run.
Option :
(A) Both Assertion (A) and Reason (R) are correct and Reason (R) is the correct
explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are correct and Reason (R) is not correct

explanation of Assertion (4).
(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) and Reason (R) both are false.
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10. SRFEEE (A) : MEFT B AR DA AGENGD A H Bl 2 1
HRO (R) : 91 0% qEadt FE Tl ol
faey -

(A) ARFEE (A) T HROT (R) AMT T & R R (R), MBI (A) & T8 /e 2
(B) SIHIT (A) T BN (R) A1 T & M BRI (R), STHAT (A) H TE A & 2l
(C) SIFN (A) T 8, QBT BRI (R) STHA 2l

(D) ARHY (A) T HROT (R) I STEFA 2
Assertion (A) : Control is needed only in business organizations.

Reason (R) : Controlling is not a pervasive function.

Options :

(A) Both Assertion (A) and Reason (R) are correct and Reason (R) is the correct

explanation of Assertion (4).

(B) Both Assertion (A) and Reason (R) are correct and Reason (R) is not correct

explanation of Assertion (4).
(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) and Reason (R) both are false.

J9% F97 T FIT TF 7 & S5/ arF § G -

The answer of each question may be given in one or two words/ sentences :

11. ST H oET HI Sied & fe f6E 599 # eF § W Ay ? 1
Which standard should be used to judge the quality of jewellary ?
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12. J&y & fhg @X W HIREl s o 8 ? 1

At which level of management policies are made ?

13. UBRFT % fhe WX g & ° 1

How many levels of packaging ?

R w7l &l gid #ieew 4 29 79 Sfaq =5 & &1 -

Fill in the blanks by appropriate word given in brackets :

14, .o, T B Th FHGE GY8 & AR 30D JHaT AEHIS ol \CERIESIIN
............. is a systematic body of knowledge and its validity is universal.
(Science/Art)
15. ARG THEX T oo, TR, 2016 H Uh GO B f EH AR AT W Ea
G | (8/18) 1
The Government of India made an announcement on .............. November, 2016
which had a deep impact on the Indian economy. (8/18)
16. R T UM & IR § (Og od Ty qHFEC: ST B G q & AN S
3 (1 w=H/aws) 1
While deciding about debt equity ratio, generally .............. are considered to be
cheaper than shares. (Debentures/Bonds)
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17. T &I H oo T & Ied & fdarl 4 deift Reeadl &1 qeee B S gl
(5 #$/10 FB) 1
Complaints relating to dispute worth up to .............. are resolved in the State
Commission. (5 crore/ 10 crore)

=T o7 et & a1 T, Jamw -

State the following statements are True or False :

18.

19.

20.

21.

JOR, §9ET H P 6T I e oey gl (&Y T7)
Publicity is the paid form of promotion. (True/False)
‘o9 1 R el ki el @ 0 ST R (&Y T7)
'‘Building Rent' is an example of fixed financial costs. (True/False)
AEEIH AERT i ARy afeal § g, aew, aart w6 gidedl gt aid ol

(&Y T7)

Special Forces of the business environment include investors, customers,

competitors and suppliers. (True/ False)

[ rfereTg S98F 99 ]
[ Very Short Answer Type Questions ]

AT o | oTY A g9Ea 7 Seredvl afed g9ssy) 3

What do you mean by Dividend Decision ? Explain with example.
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22. IIE & T ¥ IR-FoRig Mo & g9 3

23.

24.

Describe Non-financial Incentives with the help of example.

3TeE

OR

JEEXTT %l FeFdl ¥ fOxiig Aicdred & 99asy

Describe Financial Incentives with the help of example.

fosp Hadq & o7 Serer it 3

Give three examples of Sales Promotion.

3TeE

OR

“RET &% [T A AT ATHEEE ol FT Y 3@ U § §eAd & ¢ o S &
que § HR &g

"It is profitable to pay for advertising." Do you agree with this statement ? Give

reasons in support of your answer.
ARHR SR & Tl B G&q H qo BT 3

Briefly explain the elements of Delegation of Authority.
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[ @Y ST 99 |

[ Short Answer Type Questions ]

25. J§Y % 3Ll Bl qHIART 4

Explain objectives of Management.

ST
OR
TSY & HET B GO B

Explain functions of Management.

26. TIYIT & A B R HA F SUA W =T= B 4

Discuss the measures to overcome the barriers of Communication.

27. GTeT Hl URRA Rl AR € THIE 4

Explain in detail the process of organizing.

28. JUHIK HEOT ARFEH, 2019 & ATHR, SUHEKNSA Bl Iucled Hig ¢ e B THAFY 4

Explain any four remedies available to consumers under Consumer Protection
Act, 2019.
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29, IF F v H A B

Explain features of controlling.

30. ‘@R T H gl B Al d B A B

Discuss the factors which affecting requirement of 'Fixed Capital'.

YqT
OR

‘FrRI GOl &1 gifad B3 A q@l B 9o B

Discuss the factors affecting requirement of 'working capital'.

[ € ST U9 |

[ Long Answer Type Questions ]

31. &1 %9 &) U U gey & efaRad Rl @ @og § aren i ¢

(a) TGN & THal
(b) | A&l
() e @t e
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32.

33.

(15) 1210/(Set : D)

Briefly explain following principles of management given by Henry Fayol :
(@) Unity of Command
(b) Scalar Chain

(¢) Unity of Direction

3TeE

OR

AT+ T | STY o1 TUed & 7 dsiiieh ey & sl dhl qHeEy)

What do you mean by Scientific Management ? Discuss principles of Scientific

Management.

T & 7 oTiaRe a o7 S’ BNl B aUH B 6

Explain three internal and three external sources of Recruitment.

foqo frsrr & oAl B TR B 6

Discuss the elements of Marketing Mix.
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34. ‘“‘FANM g # GHadl H TR TG 27 3T FAA B g § AW B BE & G
ERIEY 6

"Planning is not a guarantee of success in a business." Explain any six

limitations of planning in light of this statement.

3TeE

OR

e | o1 a9d R ? 3H% Hew &l 9uEsdl

What is meant by Planning ? Explain its importance.
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